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host nane R1
i pv6 uni cast-routing



I
interface Serial 0/0
i p address 192.168. 30. 10 255. 255. 255.0
dupl ex auto
speed auto
i pv6 nat
I
interface Serial0/1
no i p address
dupl ex auto
speed auto
i pv6 address 2001: DB8: 3002: : 9/ 64
i pv6 enabl e

i pv6 nat ! ipv6 route ::/0 2001: DB8: 3002:: 10 i pv6 nat v4v6 source 192.168. 30.9 2000::960B: 202 !--- Tran
the ipv4 add of R2 fa0/0 to ipvé address. ipv6 nat v6v4 source 3001:11:0:1::1 150.11.3.1 !--- Translate
ipv6 add of loop0 of R3 to ipv4 address. ipv6 nat prefix 2000::/96 !--- The destination prefixes that m
2000::/96

!--- are translated by NAT-PT. ! end

R2 T4

host nane R2

!

interface Serial 0/0

i p address 192.168. 30.9 255. 255. 255.0
dupl ex auto

speed auto

|

ip route 0.0.0.0 0.0.0.0 192.168.30.10
!

end

R3 # 1|2 ol|M

host nane R3
i pv6 uni cast-routing

I
i nterface LoopbackO

no i p address

i pv6 address 3001:11:0:1::1/64
I

interface Serial 0/0

no i p address

dupl ex auto

speed auto

i pv6 address 2001: DB8: 3002: : 10/ 64
I

i pv6 route ::/0 2001: DB8: 3002:: 9
!
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R39| Loopback0 2IE{H|0|A(3001:11:0:1::1)2] IPv6 F4(3001:11:0:1::1)0|A M El ICMP Echo
Request THZ! 2 IPv6 F 24 2000::960B:202& At & 35t0{ R22| Serial0/000 Q/E{H|O|A Q| IPv v4 F
20f =Ealok & LICH &8 o= oS3t 2 &Lt

Ping
R3#ping 2000::960b:202 source LoopbackO

Type escape sequence to abort.
Sending 5, 100-byte | CMP Echos to 2000::960B: 202, tineout is 2 seconds:
Packet sent with a source address of 3001:11:0:1::1

Success rate is 100 percent (5/5), round-trip mn/avg/ max = 8/ 60/124 s
!--- This shows that the router R3 is able to reach
! -—- the router R2 through lo address 3001:11:0:1::1.

2B R204 A

R20{IM MM E|E ICMP 02 2% 1HZ(R22] Serial0/0 QIE{H 0| A 2| IPv4 FA Q1 192.168.30.901
M iS22 AAMEN2 IPv4 T4 150.11.3.12 A& 3104 R32| Loopback0 QIE{H 0| A
(3001:11:0:1::1)2] IPv6 FA(IPv4 F=24)0fl &S0k gLct =] of = Ch& 1t Z &L,

Ping
R2#ping 150.11.3.1

Type escape sequence to abort.
Sending 5, 100-byte |ICMP Echos to 150.11.3.1, tineout is 2 seconds

Success rate is 100 percent (5/5), round-trip mn/avg/ max = 24/68/ 120 ns
!--- The successful ping response shows that the router R2
!--- is able to reach the IPv6 network.

2 E R104|A

R10{| A= show ipv6 nat translations W& 2| £232 S3H R22} R3 Zto| &/ NAT-PT HeEtE =0l
g £+ U&Lch

show ipv6 nat 24t

Rl#show ipv6é nat translations

Prot | Pv4 source | Pv6 source
| Pv4 destination | Pv6 destination
192.168. 30.9 2000: : 960B: 202
--- 150.11.3.1 3001:11:0:1::1

Rl#show i pv6 nat translations

Prot | Pv4 source | Pv6 source
| Pv4 destination | Pv6 destination
192.168. 30.9 2000: : 960B: 202
--- 150.11.3.1 3001:11:0:1::1

!-—— This command displays the active NAT-PT translations in the router.


http://www.cisco.com/en/US/docs/ios/ipv6/command/reference/ipv6_15.html#wp2436370

debug ipv6 nat detailed B&
9| ICMP ping2 R10| Ez{=|

mlo ﬂIIO

|4 CHE BHEHstcte A8 2o{ELct.
CIH ipv6 nat M5 HE

Rl#debug ipvé nat detailed
R1#
*Mar 1 09:12:41.877: |Pv6 NAT: Found prefix 2000::/96
*Mar 1 09:12:41.881: 1 Pv6 NAT: | Pv4->]Pv6:
src (192.168.30.9 -> 2000:: 960B: 202)
dst (0.0.0.0 -> ::)
ref _count = 1, usecount = 0, flags = 513,
rt_flags = 0, nore_flags = 0

*Mar 1 09:12:41.881: 1 Pv6 NAT: | Pv4->]Pv6:
src (0.0.0.0 -> ::)
dst (150.11.3.1 -> 3001:11:0:1::1)
ref _count = 1, usecount = 0, flags = 257,
rt_flags = 0, nore flags = 0

*Mar 1 09:12:41.925: 1 Pv6 NAT: | Pv6->lPv4:
src (3001:11:0:1::1 -> 150.11.3.1)
dst (2000::960B: 202 -> 192.168. 30.9)
ref _count = 1, usecount = 0, flags = 2,
rt_flags = 0, nore_ flags = 0

*Mar 1 09:12:41.925: [ Pv6 NAT: icnp src (3001:11:0:1::1) -> (150.11.3.1),
dst (2000::960B:202) -> (192.168.30.9)
*Mar 1 09:12:41.965: |Pv6 NAT: Found prefix 2000::/96
*Mar 1 09:12:41.965: 1 Pv6 NAT: | Pv4->]Pv6:
src (192.168.30.9 -> 2000:: 960B: 202)
dst (150.11.3.1 -> 3001:11:0:1::1)
ref _count = 1, usecount = 0, flags = 2,
rt_flags = 0,

I-—— This command displays detailed information about NAT-PT events.
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